el [X3EMNT1=F7HVT(2023F )
WSS X5 :50mEKE S1#k [BF)

I fiz RA)—IV% K4 A4 L
1 IR FEK GR 51.9
2 INETR Tk 1A 52.5
3 INEF BH RE 52.8
4 INE TR N 53.0
5 Ak BE B8 53.7
6 INE =H HABEA 54.2
7 HEy K RRIG HEEE 54.3
8 [ o A 56.1
9 = FafE BERK 56.7
10 = = e 57.1
11 REAR o % 57.4
12 FH =2E & 57.5
13 = @K 57.8
14 INE = B 57.9
15 oii mA K& 59.4
16 K& =/ i 59.8
17 [ IR R 60.8
18 FH 20 R 61.7
19 IR fH] A E 63.4
20 REr & I2H AR 67.1




F6Mh [FaHEH

o O

vai—

THvT (20235 )

WSS x>2 Y 50mEKXETE S1h [ZF]

I fiz A=)V % K4 A4 L
1 INE nmo g 51.7
2 FH XB Yt 52.1
2 = alE 5% 52.1
4 INE TR BHE &% 53.4
5 FH KKk FiR 53.5
6 JR EILRES 54.1
7 IR fH] TK FIF 54.8
7 = EE x3& 54.8
9 FH AA EETY 55.2
10 KBy PRIR E 55.9
11 JR A #hEk 57.4
11 KBk BTE Ex 57.4
13 IR wH FER 58.7
14 KBk BAR Etk 60.1
15 IrfE] LTI i 61.0
16 g RE DS 62.9
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g6l [Eb5EH
WSS x5 50mEKE S28k [BEF]

b

AT hvT (20235 E)

vai—

ME -

92.9
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25 X

94.7

WSS X5 50mExKE S2#k [ZF]

1 REZR HO 3 50.9
2 RER HIE EA 51.0
2 fnge Tk A 51.0
4 K% Rl ## 52.5
5 INE finfE fEE 53.0
6 IR fH] EE TS 56.6
7 KBy =aF A% 57.0
8 IR WE KiE 61.7




g6l [Eb5EH
WSS x5 50mEKE S3#k [BEF]

A= FTHhvT (2023F FE)

1 oii Kz X 50.0
2 KBk NN 51.6
3 oii XH# K 52.0
4 [ AIRF R 53.6
5 JR £H Bz 55.0
6 K& At 1B 55.9
7 HRErk ® EiX 56.2
8 [ R & 58.8

WSS X5 50mEKE Sk [&F]

1 INETFE Kfd fEF 55.0
2 I~ e+t HE; 58.3
3 [R Z£H /IEE 58.4




g6l [Eb5EH
WSS x5 :50mEKE S4k [BF]

A= FTHhvT (2023F FE)

1 RER il f& 48.4
2 REZR =5 BR} 49 .4
3 INET EH &% 50.4
4 REZR hE iR 51.8
5 IR A XI1E 52.9
6 KBy Iz 1&E 53.0
7 FE W poE 53.1
8 ING 2R &Y 57.0

WSS XY 50mExKE S4fk [ZF]

1 INETE Kk BE 51.9
2 AE HE HHH 53.5




Fom X380 a=F7HyT (20234FE)
WSS x5 50mEFE S5 [BEF]

1 HREy K Bl 34 44.2
2 K% am gEE 48.5
3 HREr B St 48.9
3 g TH BE 48.9
5 13 BA RE 50.3
6 INE iR R 51.7
7 K& V=3 =l 60.9

WSS XY 50mEKE S5 [ZF]

IE 3z
1 A3k EiZ BF 51.8

WSS x5 50mEFE S6#k [BEF]

IE 3z
1 AEK WA K& 51.3

WSS XY 50mEKE S6fk [ZF]

IE 3z
1 [R A EW 56.2




Fom X380 a=F7HyT (20234FE)
WSS x5 50mEKE STH [BF]

1 INE HF 3 44.8
2 13 HHE BB 45.7
3 = A% R&E 48.0
4 INETE A ZA 48.1
5 HREy K MHE = 48.4
6 13 Kig 548 49.8
7 P WA Rz 51.7
8 P15 =)l gEth 52.3

WSS XY 50mEKE STH [ZF]

1 K& [FH &R 46.9
2 = ERRK BiER 50.9

WSS x5 :50mEKE S8k [BEF]

(31
1

K&

KRB BiE

WSS X5 50mEKE S8k [&F]

1 KBk HE ATEH 41.8
2 K% mE B 46.0
3 HKEr HE X2 50.4
4 P At I 53.9




Fom X380 a=F7HyT (20234FE)
WSS x5 50mEKE SOk [BEF]

& fiz
1 [R REK ik 41.9
2 HER EH EN 43.6
3 K& kfE 1%ER 47.7
4 FEB Bh7k K& 50.8

WSS X5 50mEKE Sk [&F]

1 AER FE BT 44.2

WSS x> 50mEXE S108k [BF]

1 K& RF FE 43.8
1 FEB fBE X 43.8

WSS X2 50mEKE S10#k [ZF)




Fem (FA3BMN2a1=F7hHvT (2023FE)
WSS XY 50mExKE S11#k [BF]

1 oii & K 42.0
2 P15 RKAR 2 42.5
2 HEy K BR =T 42.5
4 ING WH &M 43.2
4 REAR Hix % 43.2

WSS XY 50mExkE S128k [BF]

1 = B Stk 39.8
2 [R ZH &4 40.4
3 HEBrE O 42.0




